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i=1 i=1

a, a; ..
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Zf(n) [ f0gdx+= (f(n)—f(O))+—(f - 10)-5 (f"(n) £7(0))+--

= f(x)dx+E(f (n)- f(0))+Zaj(f (G (n) - f <J'-1>(n))

« ) (1.6) f (x) = cos(27x) (1.6)
1+1+---+1=n 0
(1.6)
(6 )



(1.5) %:z a (i=123:-)

1

].' 2' 214
2

a2+ﬁ+—= B.,B B lz B, =0

2 3 2 23 A4

3

a3+_2+_1 1— E 1& ii &: iz Bi=0

2 3 4 3 22 31 4 a4
a, +—L 2 a, 1 _

K N (n+1)!
@E 1 Bnl +1. B”_Z +...+l.i i—

N2l (n=! 3 (n—2)! Nt (n+d)!

n-1 n
& — 13 [jB =0
n=\ 1
B, (i=0123,--)

(21) By=1 Z(I]Bi:O(k=2,3,4,-~-)

i=0

21 B (i=0123-)
(2.1) B, (i=0123)

1 1 1 1
B=1 Bi=—7 B= B=—p Bi=
Bya =0 (k=123
( )

(1.6)
0 B p
(1.6) Zf(.) [ f(x)dx+ (f(n)- f(0) +Z(2k).(f(2k B (n)- @D (0))
1 +2% +3 44 +...4n*

k f=x"" @6 (FPx) =2 —=x")

(k— !



2j-1>k f @D (x)=0 2j-1<k
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sin(2x) sin Xcos X sinx cosx
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‘Bg (X)‘ = (27[)9
= (=D (1Y 1ms YT 1 4.0
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(8.6) m—wx
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=R RS e
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( ) BASIC
() BASIC ( ) BASIC
http://hp.vector.co.jp/authors/VA008683/

(9.1)

REM n
OPTION ARITHMETIC RATIONAL
INPUT n
OPTION BASE 0
DIM B(n)
LET B(0)=1
PRINT "B( 0)=";B(0)
FOR k=2 TO n+1
LETB(k 1)=0
FORi=0TOk 2
LETB(k 1)=B(k 1) (Licomb(k,k 1))*comb(k,i)*B(i)
NEXT i
PRINT "B(k 1;")="B(k 1)
NEXT k
END

(9.1)

(21) By=1 ki(li(jBi ~0 (k=234
i=0

1<k
BO =1 kal:_ Z(ljBl (k:21314$“') n-:k—l

o
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B(0)=1
B(1)= 1/2
B(2)=1/6
B(3)=0
B(4)= 1/30
B(5)=0

(9.2)

REM

INPUT m

LET s=0

LET g=0

FORi=1TOm
LET s=s+(1/i)
LETy=s LOG(i)
PRINT "y ("i;")="y

NEXT i

END

9.2)

n1
8.2 7., ::ZE—Iogm

i=1

m
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(9.3)

REM (8.7)
INPUT n
LET s=0
LET g=0
FOR i=1 TO n
LET s=s+(1/i)
LETy=s LOG(i) 1/(2*i)+1/(12*i"2)
PRINT "y ("i;")="y
NEXT i
END

1/(120%i~4)+1/(252%176)  1/(240%i"8)

(9.3)
1 11 1

1 1 o

8.7 =) Z—logn—+ —
®7 7 le 9 T Ton? 120"

n

+ - +R
252n®  120n®  °

( Ry )

9.2) (9.3) n=10 n=1
n=10

(9.2) (9.3)
v(l)=1 v(1)=.574801587301587

v( 2 )= .806852819440055
v(3)=.73472104466522
v(4)=.697038972213439
v( 5 )= .67389542089923
v( 6 )= .658240530771945
v( 7 )= .646946993801827
v( 8)=.638415601177304
v/(9)=.631743676632031
v/( 10 )= .626383160974204

v(2)= .577211047366642
v( 3 )= .577215564954665
v(4)= 577215658697156
v(5)= .577215664200817
v( 6 )= .577215664785003
v(7)= .577215664876123
v(8)= .577215664894764
v/(9)= .577215664899427
v/(10 )= .577215664900792

v(10) n=10

(9.3)

. 48
(27)°-n®
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~ .81
n=10 . s%: 6.34034587512476E -11
(27)° 10
() y=0.57721566490153286... ( [1] 238
(10.24) )
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